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The figures in the margin indicate fu ll marks. 
Candidates should answer in their own words 
and adhere to the word limit as practicable

strfs<p wvng Pic**! /

Use separate Answer Book fo r  each Group and Mention the Group on Answer Book 
$R7 3N$<r WCdl 4?? WUfti

Group-A

Answer any three questions from the following: 4*3 = 12
CT-tTFlFfl

(a) Why demand for inputs called ‘derived demand’?
Filmic* vis'3'0 Mttwi ^Tt ?

(Jr) Under price discriminating monopoly, price is lower in the market with 
more elastic demand. Do you agree with this statement?

tffsi ^51 3J41 >)$.nvs C9̂ 4! <K3t ?

{p) What is ‘dead weight loss’ under monopoly?
^mblfon (<n ŝprra) ^  <Ftw ^  ?

i<6) Describe the conditions of exchange-efficiency in a two person, two good 
model.

'G ^  '9i4tl ^ f s l  VltVbtel

(e) State the conditions for success of a Cartel.
(Cartel) ^IWfpa ^  I

2. Answer any one question from the following: 8x1=8

(a) Explain how the insurance companies maintain economic viability by 
operating on large scale based on the law of large numbers.
%5tt ’’iRblPlvs PtOSCM
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(b) Explain with reasons that a labour supply curve might be backward bending.
SRRd cm̂ TR C?RT W l ^ f t  *fK2f -  4<J d4<Fl dltdlt <rat I

(р) Is there exists any unique supply curve under monopoly? Explain your 
- answer.

^<K.bfuilt d43<JlM C^R PlR?! CdffiR Cddf 9 CsRtd 'S'GC'SM dlNJl xd'S l

3. Answer any two questions from the following: 15^2 = 30

. (£) Explain the concept of Nash equilibrium. Is the duopoly model explained by 5+5+5 
Cournot attend a Nash equilibrium? Why the firms will not be willing to 
play cooperative game strategy in this case?
Ĵ1*I <5=1 W> 1% Cdttdtt 9 ^?ft 'Stdt'dfd dOi3C=1 RJT*! '®RPTK2U

^ ’ 1^5 33 ? 477WU4 2R<t ̂ Tt (SR 9
(b) ‘‘Rent is not income of a particular factor of production but merely an aspect 

of income of any factor of production”. -  Explain.
“dl'SMt C4>R 1%*R ^ 9i<ts<JCc(l 4̂21 iTR, dT®R1 (21 Ĉ RRt '5R*t
1%*R” l - s n s n ^ c n i

(с) Show that perfect competition is neither necessary nor sufficient to ensure 
Pareto optimality.
(2tdfS (21 ‘dJlGTCBl (Pareto) G5JW5H *1® SRBI ^RJ <̂3l®12Jlfst®t<J
"5TI2W C^Rf5lt ̂  I

(d) Write short notes on any two of the following:
CT-CTTCRt TjW *R^Pgi>faf C=RNt2 

^^Monopolistic and monopsonistic exploitation of labour 
+T44.t?f̂ t W  « 'SRRt'^Rfe 3?ffw CdPN 

; fit) Adverse Selection and Moral hazards

(iii) Adding up problem

CTtPBIWOt
(iv) Two person zero sum game.

Group-B

4. Answer any three questions from the following: 4x3 = 12
folfsift® (21-Ĉ RRt fi&jfir sftsRf ̂ 5<I *tfSS

(a) Distinguish between fixed and flexible accelerator.
%  «  fe-dd I
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(b) Under what circumstance the short run Phillips curve can be vertical?

1% ’itefefi&cvs c?Mt ^  m a  ?

(c) Distinguish between 100% reserve banking and fractional reserve banking.

*i< tr<p3f i < u m m t 'e t r w i  f e w  I
y «

v __ -Ĵ T) What are the limitations of Keynesian Absolute Income Hypothesis to 
explain consumption behaviour?

(5»N 'Jf^RR) b<R 'SfpS sfRxfsltlR 1% 9

£6) Why is disinflation painful? What are the requirements of painless 
y  disinflation?

■spflTRMdb*! C<R W tR tW  9 W ttffa  'SplFI\(<HbH<; •

5. Answer any one question from the following:

(R-C<FRRt 4 3 #  &Q3 ■cffQS

„(a) What are meant by credit creation and credit control? Do you think that the 
"A commercial banks collectively can create credit in a fractional reserve 

banking system?

m  'Q m  f t w t  1% c ^ i t  9 ^  1% -siw t r w

3 l R t W j 4 >  i£ l^ C 3 T  *y«t T [ f t  < M A »  W 5 i  ?
y " }

(- ■(b) Explain the costs of unanticipated inflation and anticipated inflation.

'Q ^  <URTS3l̂  3JMJ1WI

(c) On what market imperfections does each theory of aggregate supply rely? 
What do the theories have in common?

TUstfsRj CTf’TRTra SiooJ4>ib C^R 2RT3 'Q’ l^ Rw i% 5 9 4 ^
\ 5 ^ '© t ^ T 3  TR/T) C 4 > H  R < l t l f b  ?

6. Answer any two questions from the following:

CT-Ĉ tCTt 5 ^  £R?sm^s<IR'Q2

(a) What is the difference between Transaction theories and Portfolio theories 
of demand for money? Explain how money can be treated as an inventory to 
show that the transaction demand for money has interest sensitivity.

n̂RR> 'g >̂4>R<d 'sm  -si^s %>rc4 <k <i

\/{b )  What are the different forms of investment? What is Tobin’s ‘q’? In what 
respect is this theory related with the neo-classical theory of investment? 
How is Tobin’s ‘q’ influenced by stock market fluctuations?

RRciiic5̂  RR>n R> R> ? bRc*^ ‘q’ 3t®T ? c^R t w  c5̂
i t̂^csricsra "srat asif^^ner ? c“Rtri ^r^tcsra ^ r R ‘®î 5CR ‘q’
R^»r^ 2f«rR^5 ^  —

c -✓  < - •'

8x1 = 8

3+5

15x2 = 30 

3+12

6+2+4+3
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How did the New Keynesian economists explain the stickiness of wages and 
prices in the short-run? — Discuss.

W F i % s l  ^̂ MJI <t-'Wt*5̂ i ?

(d) What are the instruments of Monetary Policy? Explain how money supply is 
related with the stock of ‘high powered moneys In this connection, show 
that, money supply is not totally policy determined.

'5pp5?’<#i t% C?MR IwtW  v3tbW5pl"»m
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Part-II Examinations, 2018

Economics-Honours

Paper-ECOA-IV
Time Allotted: 4 Hours

The figures in the margin indicate full marks. 
Candidates should answer in their own words 
and adhere to the word limit as practicable.

Full Marks: 100

Stff&p # 57#  W ?
^dl l̂ f̂WI fdi'Srft *Nt d'Sd 'SIZflJ
wmnfknt

Use separate Answer Book fo r each Group and mention the Group on Answer Book
fnw fufn  w n j y n w  n jn^tn  went ^ o n ^ n n  fwat^t w ent

Group-A

1. Answer any three questions from the following within 100 words each: 4^3 = 12
C4-C¥tWt Trt'G ioo ^JJS

fff) Distinguish between economic growth and economic development.
'G RraW W (3\ ]

(b) Define economic development in terms of capability.
>i,w o H  r.2ffw5 wfG i

(c) Explain the use of Lorenz curve to make judgements on the pattern of 
income distribution in a country.

,̂ 4BI<F5t*T3 bRwi'Sl RtW  R&t? RcSPRl^ T O  =1W@ C3"*!!?! TTNjt

I

td) What is meant by demographic dividend? 
ctSTK*! t°10s R5 C4WRJ ?

{/) Why is ‘Big-push' needed in a less developed Country?
s wA-Ufol.i 'OSFlcg fOWHI i-'l <^\ ‘‘

v ; ^

2. Answer any one question from the following:
RraRTRr® CT-ĉ TR̂ rt 4wff> £R3<i r̂fes

(a) From a comparison between Marx and Rostow with regard to stages of 
economic growth.
'5TS&«tR>45 'SrS R*1W ^ R t  4 ^  I

8x1 = 8
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QS) Explain the concept of low level equilibrium trap. What are the routes 
through which an economy can escape from this trap?

<ijMrt <rc?ti1f e t r e  44#  ^  ^
5̂%  ■ 'it'GTit w ?  9

(c) Discuss the role of capital in economic development of a country.

3. Answer any two questions from the following:

ĵ ar) What factors are responsible for differences in technological choice between 
less developed and developed countries? Discuss in this context the conflict 
between employment and surplus generation in the process of choice of 
techniques in less developed countries.

'Q vSfi's (TtC*!? "5RWJ £Pjj^F PwlbC.*  ̂ >5HJ 1% 'tn ft 9 2PTC5:
ĉ h ^i m s t t  sifemi ^  f e w

(b) Define Head-Count ratio and Income-Gap ratio. Indicate their limitations. 
How does Sen’s poverty measure avoid these shortcomings? —  Explain.
‘■siM <3*# <5P3*tr®’ ‘ ^rnj-^F B'Q i m f e a  < # s tw  f e e t

(c) Explain the concept of sustainable development. In this context explain the 
process of environmental accounting in determining sustainable Net 
National Product (NNP) in any country.

<Tt ^ 1  C4nwt C^*t
(n n p ) ftq fera  c* m  ^ ifem ®  fe w  i

(d) What is balanced growth? Give arguments in favour of balanced growth 
strategy. How these strategies differ from unbalanced growth strategies?
^4^ tS ^R  <tC°i 9 3ji|V| I <£W Rl£4

1% 1% 9

Group-B
fept-W

4. Answer any three questions from the following within 100 wwds each: 
fe^o C T -C W T l / t b #  2t£fR ^53 *ff3 boo

(a) Give reasons in favour of protection of commerce.
PWacH W i t  i

(b) Discuss the functions of International Monetary Fund.
'5T|'2'Srifo<r- "551 I

2046
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(£) 'What do you mean by “Unequal exchange”? 
<i°ic'o 1% C3it3n ?

($)' What do you mean by ‘decentralised planning’?
‘t o f f ' s  ‘3 1 3 3 '- ? M t ’ 3 ^ 5  c A t c u t  ?  

f€) What i s ‘Import substitution'?

5. Answer any one question from the following: 
l3P5#ff% C3-C33W1 4 3 ^  5ft?13 ̂ 33  tft^S 

(a) “Trade acts as an engine of growth” -  Write a short note in this context.
“ 3t1% j 3CT ^T®f 3 r a i” -  4 ^ 435f5 *r1*p® f \ ^ \
c=rc3ii

(b) Write a critical note on the ‘Structural adjustment programme’ of IMF.
im f  -43 w f? t3 ’ 'Q9i3 4 3 ^  ̂ R = w r n ^  tffin c=tc31 i

Discuss how the development of the centre leads to the under development 
of the periphery. u .f. . _
C ^ 3 ^ ? R 0*3̂ 5l̂ lTt=TtS3l3>£3tl

6. Answer any two questions from the following:
C3-C3nC31 2tf?5t3^33Tt'QS

> f<&) What are the salient features of multinational corporations? Critically 
examine the role of foreign multinationals in fostering the process of 
economic development of less developed nations.
<n«TlR)<p 3T31 I CcH'©t^i3

I/JFtI*!^ 3̂ Sfl1%35 C3 3A3, W3 3J13J1
*tf3l

(b) Write a critical note on the policy of export promotion as an effective means 
of industrialisation.
f*mt3W3 -5113151 % K 3 3^3-3^35 fli%3 3 T # # » t  133£3 4 3 ^
C=TC31l

(c) What is the ‘infant industry argument’ for protection? Critically examine the 
infant industry argument for protection, with examples.
‘1*135-1% W T 'T  35tt3s <R3 9 1*135-1% ?K3W 13 ^31533^
m«TIS3l 3A3ll/

Ad) Do you support the Prebisch-Singer thesis? Justify your answer.
1% Prebisch-Singer 'o'dfu <K<il 9 ^1^3^(^5113 ̂ 3 3  <r-C3t I

A
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